tesa® 68582

MEHE

50um ¥ £ Xt S(differential) Z& EIO|T

X‘” e~ A—| I:I=|

tesa® 68582 PET 7|AHQt B4 o3 & MAINZ - E £ ™ M=t Eo|= lL|ch.

HZ ol I’ ST 0| pfEEMHo | A8 FFECH FLCH
tesa® 685822 E4:

« F7H: 50pm

HHZTHE ME20| =M o3 H
M2 2 2 EoME LHA o] 5 oq

=
2B B0l A SN0 The P43

m

Ad
(=]

* Thickness: 50um

« High adhesion level on the open side, low adhesion level on the covered side
» Excellent resistance to demanding environmental conditions

» Very good handling performance in converting processes

Applications

Technical Information (average values)

o

The values in this section should be considered representative or typical only and should not be used for specification

purposes.
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« ABSHEZ (x7|) 6.5 N/cm - PEYEZ (O|FX| MEE, 142 2.6 N/cm
« ABSHZEE (14 Fut) 7.9 N/cm 21
« ABSHZEE (O|FX| HEE, 6.6 N/cm - PEYEZ (O|FX| ™MEE, =7]) 1.6 N/cm

14 ZAat - PETHEE (X7]) 6.5 N/cm
« ABSHZEE] (O[HX| HE R, 4.2 N/cm PETHE= (142 F1t) 7 N/cm

=7 PETH 22 (O[FX| ME &, 5.6 N/cm
« PCHEZ (X7I) 8.2 N/cm 14 Zot
« PCH%2] (14 &) 9.7 N/cm PETXIZM 24 (O X| 3R, 4.4 N/cm
« PCHE ] (OI™X| ™EE, 14 7.2N/cm Z70)

At Steel &2 (Z7]) 8 N/cm
« PCHE2] (O|FX| MA&E, =7]) 5.4 N/ecm Steel™d&2] (14 4ot 9.2 N/cm
« PEMEE (Z7]) 3.6 N/cm Steel 223 (O|FX| Y&, 7.5 N/cm
- PEXZEH (14 Z1t) 4.7 N/cm 14 Z1)

Steel’™H%2 (O|&EX| HEHE, 5 N/cm
Z71)
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